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1
2
GB 5086
JB/T 6047
3
3.1
K,Cr,0, Ba?
K,Cr,O; ==2K*+ Cr,05"
Cr,03 +H,0== 2HcrO,== 2H*+2CrO0%
Ba?*+CrO; =BaCrO,!
K,Cr,0;,
2H,CrO,+6 NH, ,Fe SO, ,+6H,S0,=
Cr, SO, ;+3Fe, SO, ;+6 NH, ,S0,+8H,0
K,Cr,0O, BaCl,
3.2
AR
WAY,
a 0.05M
b 0.25M
c 11 184
d 1.70
e 15%
f 0.279 5mL5%
250mL
3.3
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20 |/
3.4
3.4.1 GB 5086 1.1
3.4.2 JBIT 6047 411
3.4.3 1
1
mm? v
pH 7
1 10
20h 1~2h 8h
6< pHs 7
= 0.05M K,Cr,0;, 20
50~60
min .
1 GB 5330—85 0.95mm
208 /
3.5
a 50g 500mL 1 10 20h
1~2h 500mL
b 20mL  250mL
¢ 25mL 75mL 2mL 5060
20mL
d 30min 0.5% 6
© 11 12mL 2mL 3
S BaCl,
BaCl,%= (MsVy —M,V, ) 00694
G
I\/Il
V- mL
M2
v mL
G— g
0.0694—— BaCl,
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BaCl, Ba?* mg/L W
\Y
W—B&* mg
V——o L
= x
3.6
BaCl, Ba? 1000mg/L 1.0%
1000mg/L 0.5%
4
4.1
2KMnO,+5NaNO,+3H,S0,=2MnS0,+K,S0,+5NaNO,+3H,0
4.2
a 11 184
0.1M
4.3
33
4.4
4.4.1 34.1
4.4.2 3.4.2
4.4.3 2
2
mm >1
pH 7
1 10
20h 1~2h 8h
6< pH< 8
mL 0.IM KMnO, 20
50~60
4.5
a 50g 500mL 1 10 20h
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1~2h 500mL
b 50mL  500mL
c 0.1M 20mL  300mL
50~60 8
NaNO,Y6= 20x M x 0.0345 <100
% xV
M——
V— mL
0.0345— NaNO,
NaNO, NO3 mg/L
W——-NO; mg
V—o L

4.6
NaNO, NO3 500mg/L

NaNO,

<|=

1 1 5mL

1.0%
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*

2 100044
*
880x 1230 1/16 12 8,000
1996 7 1996 7
1 500 5.00
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